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Part | Vocabulary & Structure (30 points)

Section A

Directions: Complete each statement by choosing the appropriate answer from the 4 choices
marked A,B,C and D. Mark the corresponding letter on the Answer Sheet with a
single line through the center. (20 points)

1. Frequently single-parent children some of the functions that the absent adult in the

house would have served.

A. take off B. take after C. take in D. take on
2. The managing director took the for the accident, although it was not really his fault.
A. guilt B. charge C. blame D. accusation
3. I could see that my wife was having that fashionable coat, whether I approved of it
or not.
A. determined to B. intent on C. short of D. focused in
4. In the 1700s, North American colonists proclaimed their wealth and social by
wearing elaborate clothing.
A. responsibility B. events C. organization D. status
5. Mike had dropped in to at first hand how things were going on.
A. inquire B. require C. assign D. acquire
6. Some artists are able to a likeness in a sketch while others are gifted to a

fleeting expression.

A. grasp; get B. hold; capture
C. catch; capture D. capture; catch
7. By computation, he estimated that the repairs on the house would cost him $ 2,000.
A. coarse B. rude C. simple D. rough
8. This young woman would have people’s curiosity because she was well dressed and

looked very attractive.

A. risen B. stimulated C. caused D. woken
9. You will see this product wherever you go.
A. to be advertised B. advertised C. advertise D. advertising
10. While a amount of stress can be beneficial, too much stress can exhaust you.
A. moderate B. modern C. large D. striking
11. You him so closely; you should have kept your distance.,
A. shouldn’t have been following B. shouldn’t follow
C. mustn’t follow D. couldn’t have been following

ZRFRE(—) F 1 REE10 T

12.

13.

14.

15.

16.

17.

18.

19.

20.

If you your demand, then maybe you will have more chance of getting what you

want.

A. conduct B. dismiss C. grant D. moderate

He came back late, which time all the guests had already left.

A. after B. at C. by D. during

What do you think of his proposal that improvements in the old type of vacuum (E.
25) cleaner?

A. be made B. will be made

C. would be made D. will have to be made

The British are not so familiar with different cultures and other ways of doing things,
is often the case in other countries.
A. so B. as C. it D. that

Ideas from one’s own experiences are sometimes more valuable than those from
books.
A. derived B. deposited C. retreated D. restored
He was a man of noble . He came from an old and prominent family in Virginia.
A. origin B. source C. root D. resource
Many cookbooks have very directions, which are not easy for him to understand.
A. common B. confirmed C. complicated D. compound
isn’'t the reason for discharging her.
A. Because she was a few minutes late
B. Owing to a few minutes being late
C. The fact that she was a few minutes late
D. To be a few minutes late
he does not come, shall we go without him?
A. Supposing B. To suppose C. Supposed D. To be supposed
Section B

Directions: Fill in each blank with the proper form of the word given in the brackets. Write the

21.
22.
23.
24.
25.
26.
217.
28.
29.
30.

word(s) in the corresponding space on the Answer Sheet. (10 points)
The patient is getting (bad) . The doctors will use new medicine for him.
“What can I do for you?” the (library) asked.
(freeze) food is sold in lots of supermarkets.
We have plenty of (active) after class.
A doctor’s duty is to save people’s (life)

She lives in Britain but has French (national)

In winter, British people use (heat) instead of air-conditioners.
It’s not (necessity) to wear your school uniform on Friday.
Your homework today is to (memory) all these new words.
This is an (automatically) door. You needn’t press any button.
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Part  Reading Comprehension (60 points)

Task 1

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer
Sheet with a single line through the center.

Have you ever wondered why different animals or pests have their particular colors? Colors
in them seem to be used mainly to protect themselves.

Birds, especially seagulls, are very fond of locusts (#2 #1). But birds cannot easily catch
locusts because locusts change their colors along with the change of the colors of crops. When
crops are green, locusts look green. But when crops are ripe, locusts take on exactly the same
brown color as crops have. Some other pests with different colors from plants are usually easily
found and eaten by their enemies. So they have to hide themselves in terror for lives and appear
only at night.

If you study the animal life in any part of the world, you will find the main use of coloring is to
protect themselves. Bears, wolves and other beasts move quietly through forests. They are usually
invisible to the hunters’ eyes, because they have the colors much like the barks of trees.

An even stranger act remains to be noticed. A kind of fish living in seas can send out a kind
of very black liquid when it faces danger. While the liquid spreads over, its enemies cannot find
it, and it immediately swims away. Thus, it has existed up to now though it is not powerful
at all.

31. This passage mainly talks about

A. the change of color in locusts

B. the protective coloring of animals and pests

C. how a certain sea fish protects itself

D. how a bird catches locusts
32. Locusts are not easily found and eaten by their enemies because

A. they are powerful enough

B. they are dangerous to their enemies

C. they take on the same colors as crops

D. they fly very fast
33. The pests with different colors from plants usually appear at night so that

A. their enemies cannot easily find them and eat them

B. their enemies can have a good sleep at night

C. they can sleep well in days

D. they can easily find their enemies and eat them
34. Bears, wolves and other beasts have the same colors as barks of trees because

A. they are afraid of other big animals

B. they like brown or grey colors

FaaE(—) % 3 W10 )

C. they enjoy walking through forests quietly
D. the colors help prevent themselves from being hunted
35. A certain fish living in seas has existed up to now because
A. it is the strongest sea animal
B. it can swim much faster than any other fish
C. it can send out a kind of black liquid which makes its enemies unable to find it

D. it can send out a kind of black liquid which can kill its enemies
Task 2

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer
Sheet with a single line through the center.

An FE-book (referred to as an electronic book) is a digital version of a print book that you download
and read. But if you want to read an E-book, you must have an E-book Reader, which is a kind of free
software used by your computer. Make sure you have installed the appropriate Reader before you
download an E-book from the Internet. The software allows you to turn the words on the screen into the
size you like. It also helps you turn pages and change your viewing options,

E-books are a fun alternative (35{%) to regular books. You can download them to any
computers and create your own library with hundreds of titles. If you download them to your
portable computer (fE#£33134L), you can take them with you wherever you travel. Some E-
books are even interactive! Best of all, when you order an E-book, there is no waiting and no
shipping charges (iz%%). The amount of time it takes to download your E-book depends on the
speed of your network connection and the size of your E-book.

36. From this passage, we learn that an E-book can be

A. found in any libraries

B. found on any computers

C. read by anyone who has a computer

D. read when a certain reading software is installed
37. The E-book Reader is used for

A. reading an E-book you've downloaded

B. reading a print book in the library

C. downloading an E-book from the Internet

D. loading an E-book onto a portable computer
38. From this passage, we can learn that

A. readers can read an E-book on a portable computer when they travel

B. readers can buy an E-book using the E-book Reader

C. the E-books ordered have to be shipped to the readers with some charges

D. readers will have a lot of trouble reading an E-book
39. Which of the following statements is TRUE?

A. Readers cannot turn pages in an E-book.
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B. The size of the words in an E-book cannot be changed.

C. The downloading time is partly decided by the size of the E-book.

D. There is less fun reading an E-book than reading a print book.
40. The passage is mainly about
B. a new kind of books—E-books
D. the trouble of reading E-books

Task 3

A. a better way to write an E-book

C. the new version of E-books

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer
Sheet with a single line through the center.

Greek soldiers sent messages by turning their shields (J&) toward the sun. The flashes
reflected by light could be seen several miles away. The enemies did not know what the flashes
meant, but Greek soldiers could understand the messages.

Roman soldiers in some places built long rows of signal towers. When they had a message to
send, the soldiers shouted it from tower to tower. If there were enough towers and enough
soldiers with loud voices, important news could be sent quickly over distance.

In Africa, people learned to send messages by beating on a series of large drums. Each drum
was kept within hearing distance of the next one. The drum beats were sent out in a special way
that all the drummers understood. Though the messages were simple, they could be sent at great
speed for hundreds of miles.

In the eighteenth century, a French engineer found a new way to send short messages. In
this way, a person held a flag in each hand and the arms were moved to various positions
representing different letters of the alphabet. It was like spelling out words with flags and arms.

Over a long period of time, people sent messages in these different ways. However, not
until the telephone was invented in America in the nineteenth century could people send speech
sounds over a great distance in just a few seconds.

41. According to this passage, the Greek way of communication depended very much upon

A. the sun B. high towers
C. the spelling system D. arm movements
42, Which of the following statements is TRUE?

A. Neither the Greek soldiers nor their enemies could understand the messages.

B. American soldiers beat large drums to pass messages.

C. Telephone was invented by a French engineer.

D. Roman soldiers shouted from tower to tower to send messages.

43. In Africa, people sent messages

A. by a telephone B. over a very short distance
C. by a kind of musical instrument D. at a rather slow speed
44. people made use of arm movements to send messages.

A. French C. African

B. Roman D. American

Fa o E(—) %5 W10 )

45, Which of the following is the best title for the passage?
B. Ways of Turning Shields
D. Ways of Making Telephones

Task 4

A. Ways of Sending Messages
C. Ways of Beating Drums

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer
Sheet with a single line through the center.

People may use the expression “birdbrain” in English to describe someone who is stupid, but crows
prove that this is unfair. Now it has been discovered that crows may understand analogies.

It was once thought that only humans could understand analogies, which help us to solve
problems creatively, put things into categories, and make scientific discoveries.

To test this ability in animals, scientists do “relational matching-to-sample (RMTS)” tests,
according to the IFL Science website. If a pair was AA, for example, then picking BB to match it
would be correct. If the pair was CD, however, then EF would be correct.

Apes and monkeys have learned RMTS, but scientists wanted to know if crows could do it,
too. An international team led by Edward Wasserman from the University of Iowa in the US first
trained two hooded crows to match things by color, shape, and number in what is called
“identity matching-to-sample (IMTS)”, then moved onto RMTS.

For the IMTS test, the crows were put in a cage with a plastic tray that had three cards and
two cups in it. The card in the middle was the sample card. The cups on either side were covered
with the other two cards: One was the same as the sample (in the color, shape, or number of
shapes pictured), while the other wasn’t. The cup with the card that matched the sample card
contained two worms to eat.

In the second part of the experiment, the crows were tested with relational matching pairs.
A card with two same-sized circles, for example, meant they should pick the test card with two
same-sized squares and not two different-sized circles. The crows did well in the more difficult
test and picked the correct card more than three quarters of the time, Science News reports.

Wasserman was surprised that crows were able to solve the problem without any training in
RMTS. “What the crows have done is extraordinary,” he said in a news release. “Honestly, if it
was only by force that the crows showed this learning ability, then it would have been an
impressive result. But this was spontaneous. ”

So perhaps it’s time to stop saying “birdbrain” permanently!

46. Why does the author mention the expression “birdbrain” in the opening paragraph?

A. To get the reader interested in the origin of the expression.

B. To urge people to stop saying that birds are stupid.

C. To introduce the topic of Edward Wasserman and his experiments.

D. To introduce recent findings about crows’ intelligence.

47. Which of the following is TRUE about the tests on the hooded crows?

A. The crows did better in RMTS than in IMTS,
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B. The crows were first made to do RMTS, then IMTS.
C. The crows picked almost all the correct cards in RMTS.
D. In the IMTS test, the crows needed to identify the sample card to get rewards.
48. In the RMTS test, if the crows were given the sample card with two same-sized triangles,
they had to pick the test card with
A. two same-sized circles B. one circle and one triangle
C. two different-sized circles D. two different-sized triangles
49. The underlined word “spontaneous” in the second-to-last paragraph is closest in meaning
to
A. central B. creative C. natural D. predictable
50. Which of the following can be the best title for the passage?
A. Monkeys Are Cleverer than Crows

C. Crows Did Well in RMTS

B. Crows Show Cleverness
D. Don’'t Look Down on Birds

Task 5

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer
Sheet with a single line through the center.

It was a quarter past nine as Marie hurried into the office building where she was going to
work. Her bus had inched along through heavy morning traffic, making her a few minutes late
for her very first job. She decided to start out half an hour earlier the next day.

Once inside the lobby, she had to stand at the elevators and wait several minutes before she
could get on one going to the sixth floor. When she finally reached the office marked “King
Enterprises”, she knocked at the door nervously and waited. There was no answer. She tapped
on the door again, but still there was no reply. From inside the next office, she could hear the
sound of voices, so she opened the door and went in.

Although she was sure it was the same office she had been in two weeks before when she
had the interview with Mr. King, it looked quite different now. In fact, it hardly looked like an
office at all. The employees were just standing around chatting and smoking. At the far end of
the room, somebody must be telling a good joke, she thought, because there was a loud burst of
laughter as she came in. For a moment she had thought they were laughing at her.

Then one of the men looked at his watch, clapped his hands and said something to the others.
Quickly they all went to their desks and, in a matter of seconds, everyone was hard at work. No one
paid any attention to Marie. Finally she went up to the man who was sitting at the desk nearest to the
door and explained that this was her first day in the office. Hardly looking up from his work, he told
her to have a seat and wait for Mr. King, who would arrive at any moment. Then Marie realized that
the day’s work in the office began just before Mr. King arrived. Later she found out that he lived in
Connecticut and came into Manhattan on the same train every morning, arriving at the office at 9:35, so
that his staff knew exactly when to start working.

51. Marie felt nervous when she knocked at the door because

ZRFRE(—) F 7 R(E10 T

it was her first day in a new job

she was a little bit late for work

o>

she was afraid to have gone to the wrong place

o

there was no answer from inside the office
52. Marie could hardly recognize the office she went into as .
A. she had been there only once B. Mr. King was not in the office
C. nobody was doing any work D. the office had a new appearance
53. The people in the office suddenly started working because
A. they saw a stranger in the office
B. they had finished their morning break
C. no one wanted to talk to Marie
D. the boss was about to arrive
54. We can infer from the passage that the employees of the enterprise
A. would start their work after joking
B. were cold to newcomers
C. were always punctual for work
D. lacked devotion to the company
55. The best title for this passage would be
A. Punctual Like a Clock

C. An Unpunctual Manager

B. A Cold Welcome
D. Better Late than Never

Task 6

Directions: Fill in the following blanks with the correct answers and write your answers on the
Answer Sheet with no more than 4 words. (10 points)

Jack is a businessman. His main task is to sell “Living Machines”. He is very interested in
clean water. He is also interested in saving money. So it’s natural that he is to be a developer of
a small and affordable system to clean waste water. His “Living Machine” can clean waste water
in your home.

The “Living Machine” is a system for cleaning waste water. The waste water goes into a big
plastic tank where bacteria (Zli[#) start to break down the waste. A few days later after it is
dealt with, the water is brought into a greenhouse filled with plants and fish. With the help of
sunlight, the plants and fish remove more chemicals from the water, making it cleaner. Then the
water can be reused for washing or bathing. It can’t be used for drinking and cooking. But the
water is clean enough for watering the flowers, washing the dog, or even for bathing or
swimming.

The advantage of this technology is that it is affordable and good for the environment. If you
have enough homes and businesses, you'd better buy it. It can help to use less fresh water. It
can help keep the water supply unpolluted, too.

56. What is Jack interested in?

He is interested in clean water and
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57.

58.

59.

60.

What is this “Living Machine” used for?

The “Living Machine” is used for

What’s in the greenhouse?

There are plants, in the greenhouse.

Can the water be used for drinking and cooking?

No, it for drinking and cooking.

What does Jack want people to do?

Jack wants people his “Living Machine”.

Part [ Translation (40 points)

Section A English to Chinese (24 points)

61.

62.

63.

64.

65.

66.

Earlier scientists thought that during a man’s lifetime the power of his brain decreased.
© FLemH A RFEF AT AR —A KA AL RE 23 Wi
@ MHETRFEZIN R N Ik F B PLRE B 55 .

Q@ FLHT BRI AAZIE 16 9855

@ SerrrREE AN NI — A rh ORI R RE AR 55

He is above cheating in the exam.

@O AR A,

@ M AR = T

© e Ao AR

@ A Al AT 1

Listening to classical music is my cup of tea,

@O BRIt IR

@ Writy B R BRI — M

© Wril B AR R R Z L

@ HIE RS RAY AL

Of course, alcohol and tobacco were forbidden.

@ MR IS AR AR IR

@ 49K, DB AW AE 2 26 X5 AN FR VR

Q@ 4R AR 11 DEI AR R

@ SR PRE R A AR Y

Since World War [, the U.S. has been the world’s largest economy.
O AN R R R LK, L E— ER R R AT,

@ AN R AR LR, EE— BRI A FRRWEFER.
© &I T R A KN, LR C SR IR FRRIET.

@ oA RS R EEC SRR R RWATEER.

We have not any wine left in our house.

O AT T BEAETE T,

@ FRAHE 5+ HLBCH B AR

Fa o E(—) %9 W& 10 )

Q@ FAES T BRI BEA T .
@ FAI P B — I
67. Can’t you stop the child from getting into mischief?
@ PRASRE N LE BB A% A [ i 7
@ REEIEIR 15 T R AN EEH ] g 7
© REEARER IR £ LAl 280 1] 2
@ MEIE VRASBE A EATA I 4 il 1R IR % 71 2
68. But the importance of trade in our economy has exploded in the past three decades.
O BAEE L =4, A S AR E LT i S 2 R AR TR eI,
@ RO E T b B E R TR & = 4R,
@ G AEIFE 255 vh i EE B A 2 = AR BORBOR
@ BrE £ =4, A SRR E L5 b i B2k 2R K.
Section B Chinese to English (16 points)
69. BRI BT IR R W T R G S R BB R I . AR PR R A
VERAR, 5 R B EAR B, B IORE TR Bl S 2 v [ B 80 R R W (A9 T8 2 1 DG
BT .

70. A 20 fEAD 20 AEAC AMTHE R R R T AN B A F RIS . I A R R R O B R AR
AR 0 T LEULAR B AR SO DT 2 v 038 DA AN (DR B Y SRR 5 g ik
8. JCA B ARARE , (RO A 5 TAARME G ) — R

Part IV Writing (20 points)

Directions: For this part, you are required to write a composition of at least 100 words on the
topic Relieving Stress based on the suggestions given below.
(D) BRI 8 A e T 5
(2) PRI ETT 5
(3) ZEfip I L

A E(—) F10T|(E 10 7



Part |

ZEIRRIS(Z)

Vocabulary & Structure (30 points)

Section A

Directions; Complete each statement by choosing the appropriate answer from the 4 choices

10.

11.

12.

13.

marked A,B,C and D. Mark the corresponding letter on the Answer Sheet with a
single line through the center. (20 points)

is a map of the world.
D. the others

There are two maps on the wall: one is a map of China, and
A. other C. the other
For years, doctors millions of patients’ lives.

A. have saved
Once more I have to leave Beijing,

A. that

B. another

B. are saving C. will save D. were saving

I have been living for eight years.
C. which D. as
I was almost asleep last night when I suddenly heard someone at the door.
A. be knocking B. knocking C. to knock D. having knocked
The conference in Beijing next week is bound to be a great success.
A. holding B. being held C. to hold D. to be held
It’s my great honor to give a speech at the opening ceremony.

D. to be invited

B. where

A. to invite B. inviting C. having invited

Not until yesterday that project will be completed soon.
A. did I learn

This problem is

B. have I learnt C. I learnt D. that I learnt
his ability and I don’t think he can solve it.

A. to B. in

C. beyond D. under
She didn’t go to the party last night, she had to finish her term paper.
Al if B. though C. ll D. because

Allan is looking forward to the trade fair.

B. attending

A. attend C. be attending D. having attended
The message Mr. Black was elected chairman of the committee arrived just in
time,

A. which B. what C. that D. how

They had talked only for a few minutes they found they were of different opinions.
A. unless B. while C. before D. once

By the time you come back next month, I my term paper.

A. have completed B. complete

C. am completing D. will have completed
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14. When I first arrived in Japan, I was surprised the way people greeted each other.

A. of B. to C. with D. at
15. The market economy is quickly changing people’s ideas on is accepted.
A. that B. which C. what D. how

16. By the end of this year, Mr. Smith in our company for exactly three years.
B. has worked C. will work D. will have worked

17. by the failure of the project, the manager could hardly say a word.

A. is working

A. To be shocked B. Shocked
C. Be shocked D. Shocking
18. The first question we now discuss is we should go there so early tomorrow.
A. whether B. where C. what D. whom
19. He was attending a meeting at that time, he would have come to your party yesterday.
A. unless B. when C. but D. or

20. The auto industry spends large amounts of money on marketing campaigns young
adult customers.
C. to attract D. attracts

A. attract B. attracted

Section B

Directions: Fill in each blank with the proper form of the word given in the brackets. Write the
word(s) in the corresponding space on the Answer Sheet. (10 points)
21. It will (impossible) rain this afternoon.
22. People from different (country) come together to visit the famous museum.
23. He can do everything on (he)
24. About two (hour)
25. T would like to buy three kilos of (tomato)
26. What nice (paint)

27. How often do you take your son to the (child)

own.

ride in the bus will take you to the seaside.

| Let’s put them on the walls of the meeting room.
Palace?

28. In the (twenty-one)
29. To be (honesty)

30. Do you know if the headmistress of the school is a (chemical)

century, science is developing very fast.
, I think you don’t sing as well as Jack.

teacher?

Part  Reading Comprehension (60 points)

Task 1

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer

Sheet with a single line through the center.
Ernest Hemingway (1899-1961), an American novelist and short-story writer, was awarded

the Nobel Prize for Literature in 1954. His adventuresome life and four marriages were widely
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publicized. In 1925, his first important book, a collection of stories called In Our Time, was
published. The following year he published The Sun Also Rises, with which he scored his first
solid success. His position as a master of short fiction was advanced by Man Without Woman ,
which included the story Hills Like White Elephants, and was confirmed by Winner Take
Nothing , which included “A Clean, Well-Lighted Place”. At least in the public view, however,
the novel A Farewell to Arms, with its powerful fusion (ZH4&) of love story and war story,
overshadowed both.

Acting again as a correspondent, Hemingway made four trips to Spain. The harvest of his
considerable experience in Spain was the novel For Whom the Bell Tolls , the best seller of all his books.

After seeing action in World War ][ , Hemingway returned to his home in Cuba. In 1953, he
received the Pulitzer Prize for Fiction for his short novel The Old Man and the Sea.

In 1960, Fidel Castro’s revolution drove Hemingway from Cuba. Anxiety-ridden and
depressed, he eventually took his own life, leaving behind many manuscripts (FFF).
31. Ernest Hemingway is a(n) novelist and short-story writer.,
B. British C. Spanish D. Cuban
32. Which of the following works gave Hemingway his first solid success?

A. In Our Time. B. The Sun Also Rises.

C. Man Without Woman. D. Hills Like White Elephants.
33. When did Hemingway win the Nobel Prize for Fiction for Literature?

A. In 1925. B. In 1953. C. In 1954. D. In 1960.
34. Which of the following statements is NOT true according to the passage?

A. American

A. Hemingway’s adventuresome life and four marriages were widely publicized.
B. Hemingway’s first important book, The Sun Also Rises, was published in 1925.
C. Hemingway was awarded the Pulitzer Prize for Fiction for The Old Man and the Sea.
D. Hemingway eventually took his own life due to heavy anxiety and depression.
35. What is the harvest of Hemingway's experience in Spain according to the passage?
A. Winner Take Nothing. B. A Clean, Well-Lighted Place.
C. A Farewell to Arms. D. For Whom the Bell Tolls.

Task 2

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer
Sheet with a single line through the center.
A sunflower is a sunflower. A mobile phone is a mobile phone. But can you combine the two
to do something for your local environment?
It may well be possible. When you have finished with your mobile phone you can bury it in
the garden or a plant pot and wait for it to flower.
Recently, a biodegradable (Z:#u] F&f# ) mobile phone was introduced by scientists. It is

hoped that the new type of phone will raise consumers’ recycling awareness (ZiH).

Fa o H (=) % 3 W& 10 )

Scientists have developed a new material in the past five years. It looks like any other plastic
and can be hard or soft, and is able to change shape. It can also break down into the soil without
giving off any poisonous chemicals. British researchers have used the new material to develop a
phone cover that contains a sunflower seed. When this new type of cover turns into waste, it
forms something that feeds the seed and helps the flower grow.

Engineers have designed a small transparent GEI{[Y)) window to hold the seed. They have
made sure it only grows when the phone is thrown away.

“We've only put sunflower seeds into the covers so far. But we are working with plant
experts to find out which flowers would perform best. Maybe we could put roses in the next
time,” said one scientist,

36. What is the main advantage of the new type of phone?

A. Recyclable. C. Mobile.

37. Which of the following is NOT true about the new material?

B. Fast-growing. D. Transparent.

A. It can be hard or soft. B. It looks like any other plastic.
C. It can break down into the soil. D. It gives off poisonous chemicals.
38. There is a

A. pot B. window

in the mobile phone to keep the seed.
C. rose D. sunflower
39. Which kind of flowers would perform best in the mobile phone?

A. Roses.

B. Sunflowers.

C. Both roses and sunflowers.

D. It is still unknown to scientists and plant experts.
40. What is the author’s attitude towards the new type of mobile phone?

C. Neutral.
Task 3

A. Positive. B. Negative. D. Critical.

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer
Sheet with a single line through the center.

There are several ways to find out about the places you wish to visit. You can talk to friends
who have traveled to the places, or you can read travel books.

It seems that there are three kinds of travel books. The first kind is the books that give a
personal, subjective account of travels which the author has actually made himself. If they are
informative and have a good index, then they can be useful when you are planning your travels.
The second is the books which give a purely objective description of things to be done and seen.
They can be classified as selective guidebooks. If a well-read, cultured person has written such a
book, then the book is even more useful. The third is the books which are called “a guide” to
some places. They can help readers in the most practical way. If they are good, they will, in

addition to their factual information, give an analysis or an interpretation. Like the first kind,
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they can be inspiring and entertaining.

Whichever kind of travel books you choose, you must make sure that it does not describe
everything as “marvelous”, “fabulous” or “magical”. You must also note its date of publication
because travel is a very practical affair and many things change quickly in the 21th century.
Finally, you should make sure that the contents are well presented and easy to check.

41. The best title of the passage might be

A. Writing Travel Books B. Marvelous Travel Books

C. Three Kinds of Travel Books D. Asking Your Friends for Travel Books
42. The travel books describing the authors’ own traveling experiences are often

A. objective B. subjective
C. magical D. entertaining

guidebooks.
D. fabulous

but also an analysis or an interpretation.

43. The travel books which give an objective description belong to
A. inspiring B. personal C. selective
44, A good “guide” to a city gives not only
A. factual information B. useful ways
C. a personal account D. a good index
45. One must pay attention to the date of publication of a travel book because
A. things change quickly nowadays
B. reading travel books is a practical affair
C. his friends would have traveled to these places

D. travel books are written by well-read, cultured writers
Task 4

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer
Sheet with a single line through the center.

People who have got rhythm might have an advantage when it comes to language and reading
skills. A new study shows the brains of people who can move to a musical beat react to speech on
a more consistent basis than those who can’t. Researchers also find that musical training can
sharpen the brain’s response to language.

The researchers say their discovery provides the first biological link between the ability to
keep a beat and how the brain responds to speech, something that can have important value for
reading skills. To gather materials for their research, the team got more than 100 teenagers who
lived in Chicago, Illinois. The teens were given two tests. First, they were instructed to listen to
and tap their fingers along to the beat. The researchers calculated how accurately their young
volunteers were able to tap along to the musical timekeeper. Second, the teen subjects were
linked to an EEG device, which measures electrical activity in the brain. The EEG device was
focused on an area of the brain that not only processes sound, but is also connected to parts of

the brain responsible for motor-movement. The researchers recorded the brainwaves as their teen

FaaH(=) %5 W10 )

subjects listened to the synthesized speech sound, which was repeated irregularly for half an
hour. The researchers were able to find out how the nerve cells in that particular region of the
brain responded every time the synthesized sound was played. “Across this population of
adolescents, the more accurate they were at tapping along to the beat, the more consistent their

b

brains’ response to the letter unit was,” said Nina Kraus, one of the researchers.
While past studies have shown the links between reading skills and a person’s ability to keep
a beat, the researchers say their new findings show the hearing system is what provides a
common basis for those links. “Rhythm is naturally a part of music and language. ” Nina said.
46. According to the first paragraph, what can get the brain’s reaction to language more
effectively?
A. Rhythm.

C. Language learning.

B. Reading skills.
D. Musical training.
47. What can we learn about “the first biological link” mentioned in Paragraph 27
A. It shows how the brain works. B. It is very important for reading ability.
C. It shows how the brain reacts to speech. D. It is helpful to researchers’ findings.
48. The underlined word “subjects” in Paragraph 2 probably means “ 7,
A. persons or animals that are studied in an experiment or a research
B. areas of knowledge studied in a school, college, and so on
C. things that are being discussed in a conversation or a book
D. persons or things that are the main features of works of art
49, It can be inferred from the last paragraph that
A. reading skills may make language learners keep a beat
B. the hearing system may be useless while a person is learning to read
C. the hearing system may separate sound from meaning while a person is reading
D. the hearing system may be used while a person is reading or taking musical training
50. What can we conclude from this passage?
A. Moving to a musical beat is more popular.
B. Experts are expanding their studies on rhythm.

C. Rhythm might help us improve our reading skills.
D. Experts find the links between the hearing system and reading.

Task 5

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer
Sheet with a single line through the center.
On Sunday morning, my team is playing a game and I'm supposed to be ready to play
basketball. I love the game. Lately, I've started to rethink if I wanted to be on the team.
My father is a basketball fan. Almost every night, we go out to the backyard to shoot baskets,
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Lately, I've missed every shot. I can’t dribble (iZ¥K), and my dad just doesn’t understand.

“Come on!” he says. “Just feel the bounce (JZ¥#) in the ball. ”

1 can’t stand anyone watching me practice, so I asked my sister to drive me to the park. My
sister is not much of a basketball fan and likes to read while I'm practicing. I know she will leave
me alone. We found the playground empty except for a boy in a wheelchair and his mom. I
started shooting, but I couldn’t even hit the rim (GI%).

“You need to put your legs into your shot!” the boy shouted to me.

1 didn’t want to be unkind but I thought, “Who is this boy? I have been playing forever.
Does he think I'm a beginner?”

He motioned (7R &) for the ball. Then he made a fast move and tossed the ball in the basket
from thirty feet away.

“I'm Pablo. I can’t jump, so I've got to shoot it twice as hard. You have legs. Let them push the
ball up so you jump first, then shoot.” He made shot after shot, over and over, nonstop.

I didn’t know what to say. 1 took the ball and jumped as high as I could. At the very top, I
let the ball go. It just hit the backboard.

“Now, that’s an improvement!” Pablo told me.

Pablo and I played every day that week. He showed me how to shoot and dribble the ball. A
few days later while I was shooting with my dad, I hit ten straight shots.

“Where did you learn that?” my dad asked surprisingly.

“It’s all in the bounce of the ball, Dad. ”

51. What was the writer’s problem?

A. He argued with his father, B. He hated playing basketball.

C. He was kicked off the school team. D. His basketball skills were off lately.
52. Why did the writer ask his sister to drive him to the park?

A. Because she wouldn’t laugh at him.

B. Because she would practice with him.

C. Because she would give him some help.

D. Because she wouldn’t watch him practice.

53. Why did the writer feel unhappy about Pablo’s suggestion?

A. Because he felt looked down.

C. Because he thought Pablo was impolite.
54. Which words can best describe Pablo?

A. Quick-footed and brave.

C. Kind-hearted and clever.

55. What is the lesson of the story?

B. Because he wanted to practice alone.

D. Because he believed Pablo couldn’t play.

B. Helpful and strong-willed.
D. Open-minded and outgoing.

A. Basketball is a very difficult sport.
B. You should try to beat your father at basketball.
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C. Accepting help is a good way to accomplish a goal.

D. Treat others the way you would like them to treat you.
Task 6

Directions: Fill in the following blanks with the correct answers and write your answers on the
Answer Sheet with no more than 4 words. (10 points)

A new course standard for labor education comes out recently. The standard has the
following tasks: everyday chores, like cleaning; productive labor, including making traditional
handicrafts and experiencing new technologies; and service, including volunteer work.

Primary school students in first and second grades need to do basic cleaning, wash
vegetables, peel fruits, and learn to raise one or two kinds of plants or small animals. Third and
fourth graders should clean their classrooms, wash their socks and shoes and know how to make
cold dishes. Fifth and sixth graders should know the skills of cooking two or three common
dishes. For middle school students, they are encouraged to cook three or four dishes
independently, learn how to make one or two kinds of traditional handicrafts, experience one or
two kinds of new technologies, and do modern service or volunteer work.

Labor Week will come into being every school year. It calls on the families to join in
students’ labor education. Schools should help parents realize the importance of labor education
and help parents make labor lists to improve students’ independence.,

The course standard has been widely discussed on social media and most of people welcome
this online and say it is necessary. Some have regretted not learning such skills during their
school days.

56. How many labor education tasks are there in the new standard?
There are labor education tasks in the new standard.

57. What should fifth and sixth graders do?

They should know the skills of cooking two or

58. Who are encouraged to do modern service or volunteer work?

are encouraged to do modern service or volunteer work.

59. What do most of people think of the course standard?
They think
60. Should schools help parents make labor lists?

Part [ Translation (40 points)

Section A English to Chinese (24 points)
61. When will he be available?
@ A2 Bf i Ay LA R 5E 47
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62.

63.

64.

65.

66.

67.

68.

@ Atz mi el LA IR 27

@ A2 A 2L ?

@ Al amHES 2 7

Are you a father?

@ MYt AC R 7

@ WA ET 7

O fREEE TIE?

@ A EEL?

Thank you for not smoking.

ORCVILIT IR

@ HEIWAHA

@ EAFRIEIA .

@ R H o

Don’t turn your back on friends who are down and out.

@O AEFHE X E NATE T H 58 2R M A .

@ ANEAHRBRSS R A A

@ X TREHERINL AZEZ T THZ A,

@ AZAFH 0 55 B .

The book seems to be more a dictionary than a grammar.

O XARRFLEPA R —ATFEEA, MR AT,

@ EABE—ARFEES AR AT,

© EXABMTB—AFME T AREES.

@ XA R — AT A —ATEE A

She was more sad than angry when her son lied again.

@ Yl 1 JLF-FRU A B Y AR A TR

@ Ml L UATERT , it SR TR

@ 2l LTG0 B fth SR SRR

@ Sl iy L PR BETERT b i AR 4 T

He used to cut down trees, but he plants trees now.

O flridh Fe 285 B (B2 IUAEIETERIRY

@ Al 2 2% AR AH 2 AR

@ flridh 22 B L (B2 IAEIETERIRY

@ Atk 25 > BB L AH 2 AR

I strongly recommend this film to you because it ticks all the right boxes you will be hoping
for.

@© FRFUMRHEFE X ER LSS, R R B 2 T R BT IR 08 T A 2K
@ TSR AR E XA » R R B 2 TR BT SR 8 BT A 5K
© FKRFUMRHEFEX ER LS, R o e Pk T BT A R IR G i 1 L

FaaaE(=) %9 W& 10 )

@ FRFUMRIEAE X RS B ek T BT A VR IR ) G 3 B4R 7

Section B Chinese to English (16 points)

69. AATH UL BEGHNAE ) i A SRR AR &F » B A I S AR ¥ . S35 1, BROGBH 32 25 R 3R ATk
WARGF . S PHOC R BT AT K BRI, FRATHY B iR 257 A —Fh AR R . A RO TRA TR
JRAR T 2L RIRA2E W) 5T

70. SCHRERMZ T B RIETT O T B0TE S R AR K . AR ACHRE S #106 FLIT I A4 PO A48
H B E S SN 1% TR BRIl S A IR

Part [V Writing (20 points)

Directions: For this part, you are required to write a composition of at least 100 words on the
topic Low-Carbon Lifestyle. You should write according to the following Chinese
outline.

(D) HFTIRAR BRI R 1 AR 16 77 505
(2) AR PR Y A 16 5 20 R i 2 Ak 5
(3) 78 HH AT P ARILZ S 2405
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Part | Vocabulary & Structure (30 points)

Section A

Directions: Complete each statement by choosing the appropriate answer from the 4 choices
marked A,B,C and D. Mark the corresponding letter on the Answer Sheet with a
single line through the center. (20 points)

1. Peter will the job as Sales Manager when John retires.

A. put away B. take over C. work out D. make up

2. In our company, great changes since the new manager came.
A. took place B. take place
C. will have taken place D. have taken place
3. We had a(n)

A. explanation B. impression

with him about this problem last night.
C. exhibition D. discussion
4. In old China, women used
A. to look down B. to look down upon
C. to be looked down
5. Had I known the result, I
A. would not ask
C. had not asked
6. Smith is in his research and does not know anything about politics.
A. shut B. typed C. defeated D. absorbed

7. At the beginning he refused to take any responsibility but he had to end up by

D. to be looked down upon
you to tell me.

B. would not have asked

D. have not asked

A. to apologize B. apologizing C. apologized D. apologize
8. With the development of artificial intelligence, robots will do some mental work in the office
some manual work on the production line.
A. in addition

9. When dealing with a

B. except C. as well as D. as well

task, Alice always asks for help from people around her.

A. difficult B. wonderful C. funny D. simple
10. T invited Tom and Ann to dinner, but of them came.
A. both B. none C. either D. neither
11. There is no that women are playing an important role in the world today.
A. of deny B. to denying C. denying D. of denying

12. No matter who he is, young or old, people’s state of mind tends to keep with the
rapid change of society.
D. pace

A. contact B. progress C. touch
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13. We don’t have enough rooms for everyone, so some of you will have to a room.
A. share

14. The book has helped me greatly in my daily communication, especially at work a

B. stay C. spare D. live

good impression is a must.
A. which B. when C. as D. where

15. Our new house is very for me as I can get to the office in only five minutes.
A. adaptable D. available

16. I'm sorry I can’t see you immediately; but if you'd like to take a seat, I'll be with you

B. comfortable C. convenient

A. for a moment B. in a moment C. for the moment D. at the moment

17. Frankly speaking, I'd rather you anything about it for the time being.

A. didn’t do B. haven’t done C. don’t do D. have done
18. 1 was advised to arrange for insurance 1 needed medical treatment.

A. nevertheless B. although C. in case D. so that
19. The tomato juice left a brown on the front of my jacket.

A. spot B. point C. track D. trace
20. The thief tried to open the locked door but

A. in no way B. in vain C. without effect D. at a loss

Section B

Directions: Fill in each blank with the proper form of the word given in the brackets. Write the
word (s) in the corresponding space on the Answer Sheet. (10 points)

21. Life today is becoming busier, so everyone should have his own way of (relax)

22. In (add)
23. T am fond of (scientist) fiction.
24. It’s (wisdom)

25. Quite a few (wood)
26. The passenger plane landed (safe)

to hard work, we need some opportunities.

of you to make such a decision.
houses have been built for the tourists around the lake.
at last after flying in the storm for about one hour.

to climb the Great Wall.

28. One shouldn’t give up easily if he is determined to (success)

27. My family have been to Beijing (two)
29. Laura’s husband works as a (manage) in a bank.

30. The harder you work, the (great) progress you'll make.

Part | Reading Comprehension (60 points)

Task 1

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer

Sheet with a single line through the center.
Not many years ago, a wealthy and rather strange old man named Johnson lived alone in a
village in the south of England. He had made a lot of money in trading with foreign countries.

When he was seventy-five, he gave £ 12,000 to the village school to buy land and equipment for
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children’s playground.

As a result of his kindness, many people came to visit him. Among them was a
newspaperman. During their talk, Johnson remarked that he was seventy-five and expected to
live to be a hundred. The newspaperman asked him how he managed to be healthy at seventy-
five. Johnson had a sense of humor. He liked whisky and drank some each day. “I have an
injection (JE4}) in my neck each evening,” he told the newspaperman, thinking of his evening
glass of whisky.

The newspaperman did not understand what Johnson meant. In his newspaper he reported that
Johnson was seventy-five and had a daily injection in his neck. Within a week, Johnson received
thousands of letters from all over Britain, asking him for the secret of his daily injection.

31. Johnson became a rich man through

A. doing business B. making whisky
C. cheating D. buying and selling land
32. The money given to the school suggests that Johnson

A. had no children

B. was a strange man

C. might be very fond of children

D. wanted people to know how rich he was
33. Many people wrote to Johnson probably to find out

A. why he gave so much money to the school

B. how to live longer

C. how to become wealthy

D. in which part of the neck to have an injection
34. The newspaperman .

A. should have reported what Johnson had told him

B. shouldn’t have asked Johnson what injection he had

C. was eager to live a long life

D. should have found out what Johnson really meant
35. When Johnson said he had an injection in his neck each evening, he really meant that

A. he liked drinking a glass of whisky in the evening

B. he needed an injection in the neck

C. a daily injection in the evening would make him sleep well

D.

there was something wrong with his neck
Task 2

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer

Sheet with a single line through the center.
Joseph Pulitzer was born in 1847 in Miskolc, Hungary. He emigrated to the United States

when he was seventeen years old, and was naturalized on his twentieth birthday. He spent his
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career in journalism working in the Midwest and New York., From 1871 he was also the owner or
part-owner of many newspapers. His most famous newspaper was The New York World. The
New York World campaigned against corruption, and exposed many scandals ( H[H). It was also
a strong supporter of the rights of the working man,

In later life, Joseph Pulitzer collapsed from overwork, and lost his sight. He became
dedicated to improving the quality of journalism in America, and donated $ 1 million to Columbia
University to found a school of journalism. However, his most significant contribution was the
establishment of the Pulitzer Prizes in his will.

These prizes for excellence in journalism have been given every year since 1917 by Columbia
University. Since 1942 there have been extra categories for press photograph, and later still for
criticism, feature writing and commentary. The prize was originally for $500, but today
winners of the prize receive a gold medal. However, the real value of the prize is worth much
more than $ 500 to the journalist and to the newspaper that employs him or her.

36. Joseph Pulitzer spent his career in

A. politics B. education C. writing D. journalism
37. The New York World ran a campaign against
A. crime B. drugs C. corruption D. immigration

38. The most significant contribution made by Joseph Pulitzer was
A. the donation to a school of journalism
B. the dedication to journalism in America
C. the founding of The New York World
D. the establishment of the Pulitzer Prizes in his will
39. Today, the winner of the Pulitzer Prizes can get .
A. $500 B. $5,000

C. $1 million D. a gold medal
40. The best title of the passage is .
A. Joseph Pulitzer B. The New York World
C. Columbia University D. The Pulitzer Prizes
Task 3

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer
Sheet with a single line through the center.

The year was 1932. Amelia Earhart was flying alone from North America to England in a
small single-engined aeroplane. At midnight, several hours after she had left Newfoundland, she
ran into bad weather. To make things worse, her altimeter (FFE32) failed and she didn’t know
how high she was flying. At night, and in a storm, a pilot is in great difficulty without an
altimeter. At times her plane nearly plunged (#f1) into the sea.

Just before dawn, there was further trouble. Amelia noticed flames coming from the engine.

Would she be able to reach land? There was nothing to do except to keep going.
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In the end, Amelia Earhart did reach Ireland, and for the courage she had shown, she was
warmly welcomed in England and Europe. When she returned to the United States, she was
honored by President Hoover at a special dinner in the White House. From that time on, Amelia
Earhart was famous.

What was so important about her flight? Amelia Earhart was the first woman to fly the
Atlantic Ocean alone, and she had set a record of fourteen hours and fifty-six minutes.

In the years that followed, Amelia Earhart made several flights across the United States,
and on each occasion she set a new record for flying time. Amelia Earhart made these flights to
show that women had a place in aviation (JJizs) and that air travel was useful.

41. Which of the following statements is NOT the difficulty that Amelia Earhart met in her
flight from North America to England?
B. The altimeter went out of order.

D. She lost her direction.

A. She was caught in a storm.
C. Her engine went wrong.
42. When Amelia Earhart saw flames coming from the engine, what did she do?
A. She did nothing but pray for herself.
B. She changed her direction and landed in Ireland.
C. She continued flying.
D. She lost hope of reaching land.
43. According to the passage, what was Amelia Earhart’s reason for making her flights?
A. To set a new record for flying time.
B. To be the first woman to fly around the world.
C. To show that aviation was not just for men.
D. To become famous in the world.
44, Which of the following statements is NOT mentioned?
A. She was the first woman who succeeded in flying across the Atlantic Ocean alone.
B. She showed great courage in overcoming the difficulties during the flight.
C. She was warmly welcomed in England, Europe and the United States.
D. She made plans to fly around the world.
45. Which of the following would be the best title for the passage?
A. Amelia Earhart—First Across the Atlantic
B. Amelia Earhart—Pioneer in Women’s Aviation
C. A New Record for Flying Time
D. A Dangerous Flight from North America to England

Task 4

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer

Sheet with a single line through the center.
Yasmin, a two-year-old from Bodmin, Cornwall, the UK, was playing with a toy in a local
park on Sunday when a bird grabbed it away. Her father, Matthew Blanchard, said the gull (¥
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§%)“dived in and grabbed” the doll, named Baby, when Yasmin dropped it while walking. The
gull eventually dropped the toy on the roof of a nearby school and it was rescued from there by
some workers.

Mr. Blanchard said, “Yasmin was happily playing on the swings and taking her baby down
the slide. There were lots of seagulls in the park, and she managed to drop the baby as she was
walking up the hill. The seagull took the opportunity and dived in and grabbed it. ”

Mr. Blanchard said Yasmin was “crying” as other gulls joined in, fighting for the toy. “I
thought once it realised it wasn’t food it would let it go, but then all the other seagulls thought it
had some food on it, so they all dive-bombed the baby dolly,” he added. One of the gulls got hold of
the doll and took it up onto the roof of a nearby school, where it eventually dropped it.

“I had to get her out of the park because she was so upset,” Mr. Blanchard said. “I
convinced her that somebody would be able to get it down for her another day, but I couldn’t see
any way of us getting it back. ” Mr. Blanchard said his daughter was so upset that she talked
about nothing else over the following days.

The family contacted Bodmin Town Council who sent a worker to get the doll back on
Tuesday enabling a reunion between Yasmin and Baby that evening. “It was just a small gesture
which meant a lot to Yasmin. She was over the moon when she got that baby back and she hasn’t
let it go since then,” Mr. Blanchard said.

Marie Tonkin-Couch, the council receptionist who dealt with the request said, “The
members of staff were a bit surprised when we asked them to go and get the doll, but it was an
easy rescue as they just needed to climb up a ladder. ” Ms Tonkin-Couch said she had not heard of
a gull stealing someone’s toy before. “It was nice to be able to get it back to her. When you have
kids, you know how precious toys are to them. It was a happy ending. ”

46. Yasmin cried because

A. she saw lots of seagulls around her

B. Baby was taken away by seagulls

C. she dropped her toy

D. some seagulls grabbed her food
47, What can we learn from Paragraph 37

A. Mr. Blanchard fought against the seagulls for the toy.

B. The seagulls finally gave up the doll.

C. The seagulls dive-bombed Yasmin for food.

D. There was some food on the doll.

48, How did Mr. Blanchard comfort his daughter?

A. By taking her to school workers for help.

B. By promising that someone would get the toy back.

C. By convincing her that the doll would come back on its own another day.

D. By constantly talking to her about the incident.
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49. The underlined part “over the moon” in Paragraph 5 probably means
A. on the jump B. out of her senses

C. over the top D. in high spirits

50. What was the response of the members of staff to the request to rescue Baby?

B. They were confused.

D. They felt annoyed.
Task 5

A. They thought it was funny.
C. They were kind of surprised at first.

Directions: There are 5 questions in this task. For each question, there are 4 choices marked A,
B, Cand D. Make the correct choice and mark the corresponding letter on the Answer
Sheet with a single line through the center.

Each year, 1.3 million people worldwide die in car accidents. Ninety-four percent of those
crashes are due to human error. This is a tragedy that self-driving vehicles can help prevent.
That’s because computers can think better and react earlier than people.

As soon as we can show that a self-driving car can drive more safely than a human we should
expect to see many more such vehicles picking up passengers across the country and eventually
around the world,

Self-driving cars will also help speed up the shift toward increased ride sharing and reduced
car ownership. Many people already use ride-sharing services instead of owning their own cars.
Self-driving vehicles are a great fit for ride sharing because machines have the potential to find
the best routes for getting people to their destinations more safely and faster than human drivers.

A future where more of us use ride sharing as our primary mode of transportation means
we'll need fewer cars overall, which comes with key benefits, including reduced road congestion
and less time wasted in traffic. Fewer cars also mean less pollution and fewer parking spaces.
That would make room for more parks, bike lanes and businesses.

Real-world testing is critical to getting this technology ready for nationwide use. That’s why
some companies are testing self-driving cars in Pittsburgh, Pennsylvania, and Tempe, Arizona.
Both cities have welcomed this technology with open arms.

A better future is within reach. We already have the technology. While it won’t happen
overnight, self-driving cars will be an important part of the future of transportation.

51. According to the author, self-driving can reduce car crashes because self-driving

cars .
A. can think

C. are controlled by computers

B. know directions
D. can avoid some human errors
52. Why can we expect more car sharing with the development of self-driving cars?
A. Because machines know the destinations better.
B. Because many people prefer ride-sharing services.
C. Because they are fit for those that do not have car ownership.

D. Because people can get to their destinations more safely and faster.
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53. The underlined phrase “road congestion” in Paragraph 4 refers to
A. traffic jams B. traffic rules

C. traffic lights D. traffic signs

54. What is the attitude of Pittsburgh and Tempe towards self-driving cars?
A. Positive. B. Negative.

D. Unclear.

55. What is the biggest advantage of self-driving cars according to the passage?

C. Conservative.

A. They reduce pollution. B. They save public space.

D. They reduce car ownership.

Task 6

C. They enhance road safety.

Directions: Fill in the following blanks with the correct answers and write your answers on the
Answer Sheet with no more than 4 words. (10 points)

Green is an important colour in nature, It is the colour of grass and the leaves on trees. It is
also the colour of most growing plants.

Sometimes, the word green means young, fresh and growing. Sometimes, it describes
something that is not yet ripe Ji#\AJ) or finished. For example, a greenhorn is someone who
has no experience, who is new to a situation. In the fifteenth century, a greenhorn was a young
cow or ox whose horns (ffi) had not yet developed. A century later, a greenhorn was a soldier
who had not yet had any experience in battle. By the eighteenth century, a greenhorn had the
meaning it has today—a person who is new in a job.

Someone who has the ability to grow plants well is said to have a green thumb. The
expression comes from the early 1900s. A person with a green thumb seems to have a magic
touch that makes plants grow quickly and well. You might say the woman next door has a green
thumb if her garden continues growing long after your plants have died.

The Green Revolution is the name given some years ago to the development of new kinds of
rice and other grains. The new plants produced much larger crops. The Green Revolution was
the result of hard work by agricultural Cf&MVF{)) scientists who had green thumbs.

Green is also the colour used to describe the powerful feeling, jealousy (##P"). The green-
eyed monster is not a frightening creature (/£#)) from outer space. It is an expression firstly
used about 400 years ago by a British writer William Shakespeare in his play Othello. It describes
the unpleasant feeling a person has when someone else has something he wants. A young man
may suffer from the green-eyed monster if his girlfriend begins going out with someone else.

56. What does a greenhorn now refer to?

It refers to a person in a job.

57. Who works hard and helps to develop new kinds of rice and other grains?
Agricultural

58. What feeling do people use green to describe?

People use green to describe
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59.

60.

When was the expression “the green-eyed monster” probably firstly used?

About

What kind of person do you think is a green-eyed monster?

Someone

Part [ Translation (40 points)

Section A English to Chinese (24 points)

61.

62.

63.

64.

65.

66.

67.

Don’t cross the bridge till you get to it.
@O 2 THILA SR

@ A H N .

© JURHR 2 H 4R

@ TIAEE | I

He is the last man to consult.

@ b dw 5 —MMEA RHER A

@ i HAREH .

Q@ WMANHH M= .

@ fibJE A AR YA

Buckley was in a clear minority.

@ Buckley K% T4k,

@ Buckley J& T/HGHEA

@ AR . Buckley 2R

@ Buckley JZARAF A

He remembered the incident, as had his wife.
@ MiCAGX fF 4 AR M ZE TR

@ i g M ZEFWidk 1.
Q MFZEF—FEXT LTI I EH .

@ At At 22—k ML A5

Unexpected difficulties arose in the course of their experiment.

@ FEMATHEA TSGR AR b, B0 T ARG BRI HE

@ TEALATRYSZER PR 1 B0 T R AR R Y RIE

Q FEMATHEA TG A A b, 1 B AR B A IR

@ FEAAT BRI T ARG T PRI

Nobody seems to understand. I don’t know who to turn to.
@ LT BN BRI A  FEAHIE I ] TR B

@ P BN IREEA TR HIE 25

Q) LB N FRAF XA  FEAHIETE HERF T

@ RPN E R, FRHE T R

It was not long before he got a rise in the company.
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@O e FuhER Z T TAA
@ A AAMEAE A TR
Q) AAMAELS T 0 T
@ e w THE
68. He was sitting there with his head buried in a book when I came in.
@ HFRFEA I , L TFE AL AR B L E A
@ HFRFER I, L E AR, B FE
@ IR AR TEAR L L FE 1S
@ FRA IS A IEREAE AR A5k |
Section B Chinese to English(16 points)
69. WM A, PITE RS o WS G zs A, 0 A B o (i g 8 R K . 2 T RN
O R B BRA T S T B W IR S B B BT, SR AR B 4E R 5 A 31 H e it
FICMH”,

70, AT AWML WUV AT A IE . VA — R SERE . B LA A [ SR ARl SO AL AR
ZRBW. BRI E WY BRSO AR AR AR S AR IR R AT
o i SRS B E BIRIERAL . 55— 5 T AR ARAR LA B I AR AR N B A 1 2
i PRI G ARA 2 B A URAR I I e 2 S B AR AR

Part IV Writing (20 points)

Directions: For this part, you are required to write a letter of at least 100 words. You should
write according to the following Chinese outline.
ANRIRZRAE 3 HARFIASRE S e Ui B i A3 R i R 95 AN . 3B VRAR 6 LA 2 s8R . 45
WIESHE —HFME. NAEEH:
(1) B3 i [n) 2 5
(2) fE IR,

R E(Z) FI0RE 10 T



